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Yes; it is according to Elozor ben Gamloh - ®°7 X%23 32 919K Ray PR

Overview

The & mx explains that according to X713 J2 ITYPXR XaX the 2"7v2 is permitted to be
n"n woon, therefore the ™% need not be concerned for "N, since presumably the
2"7va was already w197 the n"n. Our MdOIN clarifies this ruling.

nooIN asks:
= 9Y91Y MY IY WIY 1) YINN ON)

And if you will say; granted that the 2"7v2 is permitted to be 2910, but -
- 159991 1) TNINY NYY 1Y PHYY TUYN 0IINY WUN KY NIY

Perhaps the 2"7v2 was not concerned to be 2730 the Wwy» which he will
eventually give to the "%, so how can we permit it, based merely on a doubt?!

MooIN answers:
- 289139 199y 1IN 11533 9YTH 2T NNWI 1T MYHNIY 11997 91210 U

And one can say that since he has permission to be v>79», and it remained in

his house for a long time, and the mx3» of 7w157 applies to him -
LIIPN TINPNT RNYINT NIND

The presumption in this case is that he made the Wy fit by being »"n won.

Summary
A 721 will not allow something which may cause an M0°X to be in his possession

for an extended period of time.

Thinking it over

1. Is it necessary that it was both in house for a long time and X»7 7°%Y M¥» in
order to assume that the 2"7v2 was w>19%, or does one condition alone (2173 27 77w
or X°n7 7%y Mxn) suffice?

2. What changed from n1901n question to NH0IN answer?

! Why are we permitting the "% to eat this "wyn without being »"n w191 based on the possibility that the 2"7v2 was
w97 since he is allowed to be w197, but we do not know that he was w°92; it should be P50 MOR!
% A 7an does not allow a 12307 1°Rw 927 (like wyn from which 770 was not separated and is 22v) to be by him.

TosfosInEnglish.com



